
� No.132B-20-1 �

No.132B-20-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 7× 471 = (2) 9× 220 = (3) 6× 326 = (4) 315× 2 =

(5) 7× 743 = (6) 817× 3 = (7) 825× 2 = (8) 6× 737 =

(9) 7× 423 = (10) 132× 5 = (11) 676× 2 = (12) 6× 685 =

(13) 6× 738 = (14) 410× 2 = (15) 858× 9 = (16) 7× 501 =

(17) 340× 3 = (18) 197× 3 = (19) 8× 384 = (20) 9× 351 =

� 13th-note �



� No.132B-20-1 �

No.132B-20-1 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 7× 471 = 3297 (2) 9× 220 = 1980 (3) 6× 326 = 1956 (4) 315× 2 = 630

(5) 7× 743 = 5201 (6) 817× 3 = 2451 (7) 825× 2 = 1650 (8) 6× 737 = 4422

(9) 7× 423 = 2961 (10) 132× 5 = 660 (11) 676× 2 = 1352 (12) 6× 685 = 4110

(13) 6× 738 = 4428 (14) 410× 2 = 820 (15) 858× 9 = 7722 (16) 7× 501 = 3507

(17) 340× 3 = 1020 (18) 197× 3 = 591 (19) 8× 384 = 3072 (20) 9× 351 = 3159

� 13th-note �



� No.132B-20-2 �

No.132B-20-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 809× 5 = (2) 4× 389 = (3) 7× 884 = (4) 6× 417 =

(5) 6× 661 = (6) 373× 9 = (7) 664× 4 = (8) 636× 5 =

(9) 763× 7 = (10) 9× 432 = (11) 973× 9 = (12) 6× 640 =

(13) 370× 4 = (14) 4× 442 = (15) 9× 695 = (16) 257× 9 =

(17) 238× 5 = (18) 6× 541 = (19) 887× 4 = (20) 6× 920 =

� 13th-note �



� No.132B-20-2 �

No.132B-20-2 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 809× 5 = 4045 (2) 4× 389 = 1556 (3) 7× 884 = 6188 (4) 6× 417 = 2502

(5) 6× 661 = 3966 (6) 373× 9 = 3357 (7) 664× 4 = 2656 (8) 636× 5 = 3180

(9) 763× 7 = 5341 (10) 9× 432 = 3888 (11) 973× 9 = 8757 (12) 6× 640 = 3840

(13) 370× 4 = 1480 (14) 4× 442 = 1768 (15) 9× 695 = 6255 (16) 257× 9 = 2313

(17) 238× 5 = 1190 (18) 6× 541 = 3246 (19) 887× 4 = 3548 (20) 6× 920 = 5520
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� No.132B-20-3 �

No.132B-20-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2× 730 = (2) 698× 9 = (3) 454× 7 = (4) 810× 3 =

(5) 8× 950 = (6) 8× 886 = (7) 2× 140 = (8) 3× 518 =

(9) 8× 938 = (10) 5× 295 = (11) 9× 187 = (12) 836× 3 =

(13) 117× 7 = (14) 2× 462 = (15) 7× 348 = (16) 6× 281 =

(17) 348× 7 = (18) 5× 249 = (19) 6× 178 = (20) 924× 2 =

� 13th-note �



� No.132B-20-3 �

No.132B-20-3 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2× 730 = 1460 (2) 698× 9 = 6282 (3) 454× 7 = 3178 (4) 810× 3 = 2430

(5) 8× 950 = 7600 (6) 8× 886 = 7088 (7) 2× 140 = 280 (8) 3× 518 = 1554

(9) 8× 938 = 7504 (10) 5× 295 = 1475 (11) 9× 187 = 1683 (12) 836× 3 = 2508

(13) 117× 7 = 819 (14) 2× 462 = 924 (15) 7× 348 = 2436 (16) 6× 281 = 1686

(17) 348× 7 = 2436 (18) 5× 249 = 1245 (19) 6× 178 = 1068 (20) 924× 2 = 1848
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� No.132B-20-4 �

No.132B-20-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 116× 9 = (2) 504× 4 = (3) 7× 765 = (4) 214× 4 =

(5) 910× 7 = (6) 628× 3 = (7) 9× 503 = (8) 6× 608 =

(9) 277× 8 = (10) 189× 7 = (11) 779× 4 = (12) 5× 203 =

(13) 2× 533 = (14) 396× 3 = (15) 5× 152 = (16) 183× 6 =

(17) 770× 3 = (18) 347× 5 = (19) 832× 9 = (20) 9× 646 =

� 13th-note �



� No.132B-20-4 �

No.132B-20-4 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 116× 9 = 1044 (2) 504× 4 = 2016 (3) 7× 765 = 5355 (4) 214× 4 = 856

(5) 910× 7 = 6370 (6) 628× 3 = 1884 (7) 9× 503 = 4527 (8) 6× 608 = 3648

(9) 277× 8 = 2216 (10) 189× 7 = 1323 (11) 779× 4 = 3116 (12) 5× 203 = 1015

(13) 2× 533 = 1066 (14) 396× 3 = 1188 (15) 5× 152 = 760 (16) 183× 6 = 1098

(17) 770× 3 = 2310 (18) 347× 5 = 1735 (19) 832× 9 = 7488 (20) 9× 646 = 5814
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� No.132B-20-5 �

No.132B-20-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8× 846 = (2) 3× 480 = (3) 4× 661 = (4) 624× 8 =

(5) 6× 931 = (6) 326× 3 = (7) 584× 4 = (8) 162× 4 =

(9) 9× 605 = (10) 853× 6 = (11) 3× 575 = (12) 847× 9 =

(13) 7× 379 = (14) 6× 774 = (15) 9× 336 = (16) 6× 781 =

(17) 498× 9 = (18) 9× 467 = (19) 824× 5 = (20) 806× 2 =

� 13th-note �



� No.132B-20-5 �

No.132B-20-5 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8× 846 = 6768 (2) 3× 480 = 1440 (3) 4× 661 = 2644 (4) 624× 8 = 4992

(5) 6× 931 = 5586 (6) 326× 3 = 978 (7) 584× 4 = 2336 (8) 162× 4 = 648

(9) 9× 605 = 5445 (10) 853× 6 = 5118 (11) 3× 575 = 1725 (12) 847× 9 = 7623

(13) 7× 379 = 2653 (14) 6× 774 = 4644 (15) 9× 336 = 3024 (16) 6× 781 = 4686

(17) 498× 9 = 4482 (18) 9× 467 = 4203 (19) 824× 5 = 4120 (20) 806× 2 = 1612
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� No.132B-20-6 �

No.132B-20-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6× 974 = (2) 7× 248 = (3) 301× 3 = (4) 3× 636 =

(5) 4× 591 = (6) 952× 7 = (7) 7× 961 = (8) 4× 946 =

(9) 4× 929 = (10) 956× 5 = (11) 8× 111 = (12) 9× 568 =

(13) 474× 8 = (14) 3× 913 = (15) 644× 4 = (16) 540× 2 =

(17) 254× 7 = (18) 2× 210 = (19) 8× 340 = (20) 8× 667 =
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� No.132B-20-6 �

No.132B-20-6 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6× 974 = 5844 (2) 7× 248 = 1736 (3) 301× 3 = 903 (4) 3× 636 = 1908

(5) 4× 591 = 2364 (6) 952× 7 = 6664 (7) 7× 961 = 6727 (8) 4× 946 = 3784

(9) 4× 929 = 3716 (10) 956× 5 = 4780 (11) 8× 111 = 888 (12) 9× 568 = 5112

(13) 474× 8 = 3792 (14) 3× 913 = 2739 (15) 644× 4 = 2576 (16) 540× 2 = 1080

(17) 254× 7 = 1778 (18) 2× 210 = 420 (19) 8× 340 = 2720 (20) 8× 667 = 5336
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� No.132B-20-7 �

No.132B-20-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2× 723 = (2) 522× 4 = (3) 6× 692 = (4) 5× 591 =

(5) 812× 7 = (6) 192× 3 = (7) 392× 7 = (8) 672× 5 =

(9) 6× 397 = (10) 3× 144 = (11) 9× 249 = (12) 5× 556 =

(13) 858× 3 = (14) 8× 687 = (15) 8× 768 = (16) 925× 4 =

(17) 9× 469 = (18) 434× 5 = (19) 4× 210 = (20) 301× 9 =
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� No.132B-20-7 �

No.132B-20-7 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 2× 723 = 1446 (2) 522× 4 = 2088 (3) 6× 692 = 4152 (4) 5× 591 = 2955

(5) 812× 7 = 5684 (6) 192× 3 = 576 (7) 392× 7 = 2744 (8) 672× 5 = 3360

(9) 6× 397 = 2382 (10) 3× 144 = 432 (11) 9× 249 = 2241 (12) 5× 556 = 2780

(13) 858× 3 = 2574 (14) 8× 687 = 5496 (15) 8× 768 = 6144 (16) 925× 4 = 3700

(17) 9× 469 = 4221 (18) 434× 5 = 2170 (19) 4× 210 = 840 (20) 301× 9 = 2709
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� No.132B-20-8 �

No.132B-20-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4× 396 = (2) 260× 2 = (3) 792× 2 = (4) 5× 339 =

(5) 8× 581 = (6) 193× 2 = (7) 991× 9 = (8) 3× 660 =

(9) 771× 8 = (10) 364× 9 = (11) 2× 516 = (12) 115× 5 =

(13) 488× 8 = (14) 2× 196 = (15) 8× 323 = (16) 2× 574 =

(17) 8× 778 = (18) 4× 293 = (19) 264× 9 = (20) 727× 7 =
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� No.132B-20-8 �

No.132B-20-8 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 4× 396 = 1584 (2) 260× 2 = 520 (3) 792× 2 = 1584 (4) 5× 339 = 1695

(5) 8× 581 = 4648 (6) 193× 2 = 386 (7) 991× 9 = 8919 (8) 3× 660 = 1980

(9) 771× 8 = 6168 (10) 364× 9 = 3276 (11) 2× 516 = 1032 (12) 115× 5 = 575

(13) 488× 8 = 3904 (14) 2× 196 = 392 (15) 8× 323 = 2584 (16) 2× 574 = 1148

(17) 8× 778 = 6224 (18) 4× 293 = 1172 (19) 264× 9 = 2376 (20) 727× 7 = 5089
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� No.132B-20-9 �

No.132B-20-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6× 785 = (2) 434× 8 = (3) 3× 172 = (4) 815× 5 =

(5) 564× 9 = (6) 8× 975 = (7) 6× 753 = (8) 5× 395 =

(9) 630× 2 = (10) 405× 3 = (11) 751× 4 = (12) 2× 779 =

(13) 3× 873 = (14) 3× 884 = (15) 5× 797 = (16) 3× 450 =

(17) 807× 6 = (18) 922× 9 = (19) 322× 5 = (20) 9× 628 =
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� No.132B-20-9 �

No.132B-20-9 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 6× 785 = 4710 (2) 434× 8 = 3472 (3) 3× 172 = 516 (4) 815× 5 = 4075

(5) 564× 9 = 5076 (6) 8× 975 = 7800 (7) 6× 753 = 4518 (8) 5× 395 = 1975

(9) 630× 2 = 1260 (10) 405× 3 = 1215 (11) 751× 4 = 3004 (12) 2× 779 = 1558

(13) 3× 873 = 2619 (14) 3× 884 = 2652 (15) 5× 797 = 3985 (16) 3× 450 = 1350

(17) 807× 6 = 4842 (18) 922× 9 = 8298 (19) 322× 5 = 1610 (20) 9× 628 = 5652

� 13th-note �



� No.132B-20-10 �

No.132B-20-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8× 705 = (2) 5× 944 = (3) 724× 3 = (4) 898× 2 =

(5) 3× 686 = (6) 586× 6 = (7) 2× 542 = (8) 630× 3 =

(9) 358× 6 = (10) 5× 331 = (11) 7× 738 = (12) 143× 6 =

(13) 3× 657 = (14) 4× 530 = (15) 5× 396 = (16) 613× 4 =

(17) 8× 773 = (18) 104× 2 = (19) 7× 184 = (20) 7× 990 =
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� No.132B-20-10 �

No.132B-20-10 （ 点） （ 分 秒）

次の計算をしなさい。（１問 5点）

(1) 8× 705 = 5640 (2) 5× 944 = 4720 (3) 724× 3 = 2172 (4) 898× 2 = 1796

(5) 3× 686 = 2058 (6) 586× 6 = 3516 (7) 2× 542 = 1084 (8) 630× 3 = 1890

(9) 358× 6 = 2148 (10) 5× 331 = 1655 (11) 7× 738 = 5166 (12) 143× 6 = 858

(13) 3× 657 = 1971 (14) 4× 530 = 2120 (15) 5× 396 = 1980 (16) 613× 4 = 2452

(17) 8× 773 = 6184 (18) 104× 2 = 208 (19) 7× 184 = 1288 (20) 7× 990 = 6930

� 13th-note �


